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Home Work-1-
LEVERS
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Question 1:-                                                                 
Choose the correct answer:-                                   (5 Marks)
1.  ---------------------- are the three main features that are common in every lever. 
a) Load
b) Fulcrum
c) Effort
d) All the above
2. The mechanical advantage of a lever is the ratio of the ----------.
a) Length of the effort arm to the length of the load arm.
b) Length of the load arm to the length of the effort arm.

c) None of the above answers.

             d) All the above answers.
3. First class levers have the fulcrum positioned between the

----------------. 

a) Pivot and effort.
b) Load and effort.
c) Load and fulcrum.
d) Pivot and load.
4. Net cracker is an example of---------------. 
a) First class of levers.
b) Second class of levers.
c) Third class of levers.
d) None of the above answers.
5. The Ideal Mechanical Advantage have--------------unit. 
a) Newton(N)
b) Meter(m)
c) N/mm
d) No
Question 2:-

 write (T) for true and (F) for false for the following statement: 

                                                                                   (5 Marks)

1) Third class levers have the effort positioned in the middle between the load and pivot.   (      )
2) Scissors are good examples for the second class of levers. (    )
3) A lever is a flexible bar that used to transfer force. (       )
4) Tweezers are typical example of third class levers. (      )
5) The Ideal Mechanical Advantage  unit is meter(m). (      )
Question 3:-
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Calculate the effort force needed to move a rock of 1000 N, if the load arm length (2 m) and the effort arm length (6 m). Also calculate the Ideal Mechanical Advantage (MAi).  (5 Marks)
Question 4:-
Calculate the Ideal Mechanical Advantage(Mai) for a lever, if the effort was 200N and the Load 500N,the load arm length 4m and effort arm length 10m.                              (2 Marks)
Question 5:-
Give examples for the following:                                (3 Marks)
1- First class lever

2-Second class lever

3-Third  class lever
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